12 GA. GALV.
COMMERCIAL TOP
ROLLER BRACKET

ATTACHED W/<(3> 1/4*
x 1 SCREWS PER
BRACKET

2’ 10 BALL STEEL
7 LONG STEM
ROLLERS

PER

@

TYPICAL TOP FIXTURES
N.T.S.

ADJUSTABLE ROLLER
CARRIER ATTACHED W/ (2
S5/16” x 3/4* BOLT & NUT

BRACKET

3’ 20GA. STRUT ATTACHED
W/ (@) 1/4" x 1 SCREWS
AT EACH CENTER STILE

TYPICAL CENTER HINGE

N.T.S.

e

NI

[~

V1%

g’

DOOR HEIGHT

TYPICAL 24°f

SECTION
. TYPICAL '
PANEL

g
\

14'-2*

DOOR WIDTH

D e
STEP LIFT A
HANDLE

DOOR INTERIOR ELEVATION

N.T.S.

20ga PAINTED
g /END STILES

) /SLIDE LOCKS

®

W/ @ 1/4*

(2 PLACES)

2’ 20GA. STRUT ATTACHED
W/ @) 174" x 1* SCREWS
AT EACH END STILE

TYPICAL END HINGE

14GA, MIN, CENTER
HINGE ATTACHED
W/ (3) 174" x 1* SCREWS

2’ 20GA. STRUT ATTACHED
W/ 2 1/4* x 1 SCREWS

3 20GA. STRUT ATTACHED

14GA. MIN, CENTER
HINGE ATTACHED
W/ (5> 174" x 1" SCREWS

AT EACH CENTER STILE

TYPICAL CENTER HINGE

N.T.S.

®

14GA. MIN. END HINGE
ATTACHED W/ (5 1747
x 1’ SCREWS

TYPICAL END HINGE
N.T.S.

©)

N.T.S.

2X6 No. 2 DR BETTER SPF wOOD JAMB

5/16" x 1 5/8° LAG SCREW
(1> PER JAMB BRACKET

. 147-0* .
| / JANE SEAL OPENING WIDTH
OPTIONAL
E\\ ;2 /¢
. 74 14
7/ I 7/
) INTERMEDIATE ROLLER
051" MIN TRACK HINGES 14GA HINGE 14GA

c” BRACKET

MOUNT TO

1/4-20 x S5/8°TRACK SPLICE
BOLT AND NUT
OR <2> RIVETS

2°-10 BALL STEEL

4.5 STEM ROLLERS (MIN.
(7* STEM ROLLERS USED IN
TOP AND BOTTOM FIXTURES)

woOoD JAMB DETAIL

N.T.S.

TYPICAL TOP

EXTERIOR SKIN

TYPICAL
INTERMEDIATE
SECTION

INSULATION CORE

1-3/8°
—II—

12 GA. (MIN> GALV. COMMERCIAL TOP
ROLLER BRACKET ATTACHED WITH <3
1/4* x 1° HEX HEAD UNIV. SCREWS
PER BRACKET ADJUSTABLE SLIDE
BRACKET IS ASSEMBLED WITH <2
5/16° x 3/4° CARRIAGE BOLTS & NUT
PER BRACKET

SECTION

27 GA MIN
INTERIOR SKIN 27 GA

2’ 20 GA STRUT AT TOP OF EACH
EVEN INTERMEDIATE SECTION
ATTACHED W/ €2) 1/4* X 17 HEX
HEAD SCREWS AT EACH END STILE
AND CENTER STILE LOCATIONS

L A P Tk i

TONGUE & GROOVE
x 17 SCREWS SECTION JOINT
AT EACH END STILE 2% 10 BALL STEEL
, TYPICAL BOTTOM 3’ 20 GA STRUT AT TOP OF EACH
?MSIN )STEM ROLLERS SECTION ODD SECTION STARTING WITH THE
: BOTTOM SECTION ATTACHED W/ (2>
174 X 1’ HEX HEAD SCREWS AT
POLYURETHANE EACH END STILE AND CENTER

STILES

BOTTOM BRACKET

11 GA. (MIND
SECTION A—A (SIDE VIEW)
14GA. MIN. END HINGE N.TS.
ATTACHED W/ (5> 1/4°
x 1’ SCREWS
2’ 10 BALL STEEL
45’ STEM ROLLERS REV | DESCRIPTION OF REVISIONS DATE  (BY
(MIND
BOTTOM BRACKET
11 GA. (MIND _ 5
ATTACHED 58 2
P MAX SIZE | &8 SNV ~
5 W/C7) 174 X 1 %2 % 24 | BE S OF TN, 5
Q HEX HEAD SCREWS X &S ,«QE,,..,,.T.'E..{" \ E
DESIGN LoaDS| E£ E
i -17.2 PSF 3 :
g <
TEST LOADS | 5% y; 3
+22.7 PSF | &3 WO LIoENSER. & & g
~258 PSF | 2% \\6 <
Eg \\\ ? 5
TYPICAL BOTTOM BRACKET (¢ 22 s
N.T.S. O & TX a
THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURES DESCRIBED IN DASMA 108. THE arr
PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED
USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS ENTREMATIC
(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10* OR
MODEL 1350 AMARR 2741 (27GA)
LESS, AND I=1.0): MODEL 2700 AMARR 2742 Ez'm;
MODEL 2720 AMARR 2042 (20GA
WIND SPEED (MPH) | 104 35 90 | 86 | 82 SZE| DRAWNBY  ORD| DATE 4/23/18 DRAWNG NUMBER
EXPOSURE LEVEL B | C | C 1 D1 D I Bl ceomor wr| e 5o/ IBC-1314~104~15
MEAN ROOF HEIGHT | 30 15 25 15| 25 ENTREMATIC ST 1 OF 4
165 G =




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITwW BUILDEX 1/4°-14
X 374" SELF-TAPPING
SCREWS (TEKS)

12 GA. OR 3/16*
STEEL (SEE BELOW) 178”7 NOM X 1”7 LONG
FILLET WELD (E60xx

ELECTRODES MIND
zzzZIZZZZZY

174* LONG TACK
WELD SAME SPACING
AS FILLET WELD

P ST
BRACKET, CONTINUOUS AND TAPERED ANGLE
MOUNT AVAILABLE

REVER N MOUN N

REVERSE ANGL UNT N
BRACKET, CONTINUOUS AND

FRAM TAPERED ANGLE MOUNT AVAILABLE

1o _GA. STEEL FRAMING
232 LBS./SCREW ALLOWABLE LOAD - 6*
FROM ENDS AND 24‘ 0O.C.

STEEL FRAMING 12GA OR BETTER
REFER TO NOTES: 1, 2 AND 5 1590 LBS./IN, ALLOWABLE LOAD -

6’ FROM ENDS AND 24 0O.C.
REFER TO NOTES: 1, 2, S, 6, 7, 8

/ ’
AND 9

3/716” STEEL FRAMING

569 LBS./SCREW ALLOWABLE LDAD - 6°
FROM ENDS AND 24 0O.C,

REFER TO NOTES: 1, 2 AND 5

2000 PSI MIN, SIMPSON STRONG-TIE 2000 PSI MIN, SIMPSON STRONG-TIE

CONCRETE 3/8'¢ WEDGE-ALL CONCRETE 3/8°¢ SLEEVE-ALL
\ EXPANSION ANCHOR WITH EXPANSION ANCHOR WITH
7/8'% WASHER. 1-3/4°MIN, 7/8'¢ WASHER, 1-3/4°MIN,
. « | EMBEDMENT N «{ EMBEDMENT

2-5/8 THICK
WALL MIN,
(1.5 x EMBEDMENT)

2-5/8’ THICK
WALL MIN.
(1.5 x EMBEDMENT)

|37 MIN. EDGE | 3 MIN, EDGE
DISTANCE DISTANCE
CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN CONTINUOUS ANGLE MOUNT SHOWN
BRACKET, REVERSE AND TAPERED ANGLE MOUNT BRACKET, CONTINUOUS AND TAPERED ANGLE

AVAILABLE MOUNT AVAILABLE

INCRET
336 LBS./EXPANSION ANCHOR ALLOWABLE
LOAD - 6° FROM ENDS AND 24’ OC.
REFER TO NOTES: 1, 2, 3, 4 AND S

2000 PSI CONCRETE OR GREATER

351 LBS./EXPANSION ANCHOR ALLOWABLE LDAD -
6’ FROM ENDS AND 24“ O.C.

REFER TO NOTES: 1, 2, 3, 4 AND 5

TRACK CONNECTION TO WOOD JAMB OPTIONS

FOR LAG SCREWS & BRACKET SPACING SEE TRACK CONFIGURATION DETAIL

17

NOTES:

1. ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND
FLOOR.

2. FIRST (BOTTOM> ANCHDOR STARTING AT NO MORE THAN HALF OF
THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR
INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.

3. MIN. EGDE DISTANCE DOF 3" REQUIRED.
4, USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER,

S. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A
REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN
ADDITION TO OTHER LDADS.

6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL
NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL.

7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER
OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO
VERIFY THE INTEGRITY OF THE WELD.

8. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE
SURFACE.

9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT
ROTATION OF TRACK ANGLE.

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

] 7

BRACKET MOUNT

5/16° x 1 5/8° LAG SCREW (D
PER JAMB BRACKET (1-1/2*
EMBEDMENT MINIMUM) (TYP.)

CONTINUOUS ANGLE MOUNT

REVERSE ANGLE MOUNT

2x6 wOoD JAMB SYP OR SPF
(NO.2> OR BETTER (TYP.

X 6 VERTICAL JAMB A MENT TO W FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS

THEN 24" 0.C. (1 1/2" EMBEDMENT)

2 X _6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8" X 4" STARTING 6” FROM ENDS

THEN 24" 0.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8” X 2-3/4" STARTING 6" FROM ENDS

THEN 24" 0.C. (1 1/4” EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS
THEN 24" 0.C. (2 1/2” EMBEDMENT)

2 X 6 VERTIC MB_ATTACHMENT TO HOLLOW C—90 BLO
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6" FROM ENDS,

USE PAIRS OF FASTENERS (3" APART)

AT 24" 0.C. (1 1/2” EMBEDMENT)

HILTI 1/4” X 2—3/4" KWIK—CON ll+ SCREWS STARTING 6" FROM ENDS,

USE PAIRS OF FASTENERS (3” APART) AT 24” 0.C. (1 1/4" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS

THEN 24" 0.C. (1 1/4" EMBEDMENT)

(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

WOooD CONCRETE
E STRUCTURE STRUCTURE
% f— -
2
M \ \
p- 4 L -
3 =] =~
_l__l__ X6 JAMB
1/2* MIN TYP. 2-3/4* MIN
HOLLOW BLOCK
GROUTED BLOCK
STRUCTURE STRUCTURE
' _:l )
7 o § 1]
J
1-1/2* MIN l 4 l
3° MIN

SPECIFICATIONS AND NOTES

-121.8 LBS/FT

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE

VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED TO THE
VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER RECEIVES NO
PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+107.0 LBS/FT &
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR SKIN
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH

5. DOORS UP TO 24'0" FOLLOW TABLE 3 STRUT SCHEDULE ON PAGE 4
6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION. TO OTHER LOADINGS.

INTERIOR OF GARAGE

MAX. WIDTH 140"

pesiN oaps | | { F P 1P ]]V]

+107.0 LBS/FT
—121.8 LBS/FT

SEE NOTE 2

REV | DESCRIPTION OF REVISIONS DATE  |BY

MAX SIZE
14'2 x 24’

DESIGN LOADS
+15.1 PSF
-17.2 PSF

TEST LOADS
+22.7 PSF
—-25.8 PSF

Thomas L. Sheimerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

End \

= “E.Q.E.TE*‘\

SR 20 ndlag )
A 4‘9 ),

*
F ok gl

wesvcasgiiYesvacnasvenancas

"
-~

’
;' A4L. SHELM 7
A% 8
KSR
W CEN 4

-
. 3
MAIIT AL

TX

5921-G W. Friendly Ave., Grgensboro, NC 27410

Awmary

ENTREMATIC

MODEL 1350 AMARR 2741 (27GA)
MODEL 2700 AMARR 2742 (27GA)
MODEL 2720 AMARR 2042 (20GA)

Sz

DRD| DATE 3/13/18

CHECKED BY  RIR

DATE  3/15/18

DRAWING NUMBER

IBC-1314-104-15

ENTREMATIC

SHEET 2 OF 4




B B
21-3/8*
MAX, DLO™
. Py | gy e e . T ¥ =
' ' 3-1/4* /i J]
- - DOOR SKIN - O L2 =
& @ @ 772 ALUMINUM MAX, DLD
X ra [ < :l‘ /SPACER .080
N.T.S. \ _/ [ PLEXI-GLASS L _—r N
~ e 7 N.T.S.
\ ALUMINUM /OBIO H%LE'S‘%\';E
A A
23-3/8*
SPACER PLEXI-GLASS I
\DEIDR SKIN MAX. DLD
EXTRUDED HOT MELT
POLYPROPYLENE ADHESIVE | .
#8 ZINC SCREW A -
SECTION B-B 24 X 6 WINDOW DETAIL W/ .080 PLEXI-GLASS |
N.T.S. 10-3/16" |
MAX., DLO
PT LA cT /_24* *_WINDOW
NT.S. \\K - ; ;
r X 13° T NING AND FASTENER DET
10P_SECTION N.T.S.
¢ ¢ OT MELT
HOT MELT Hi MEL = v
POLYSTYRENE ADHESTV ADHESIVE e MEA}X.SJ/J EEI — ]
/ igfsox; gLass \ DOCR SKIN
N —] (a N ‘-—W = - O 0 0 N
=i /I, 74%7—}%* v A // N\ " | ] :
. /// J:} ) /// /// : N 7/ S : 9-5/8* .
A @ @ @ i 1 N P P 7 MAX. DLO
o S o
N\ /// // i N _ ")
\\gg%gmm S 1-GLASS #8 ZINC SCREV 24" X 12* DAY LIGHT [PENING AND FASTENER DETAIL
N.T.S.
SECTION C-C  26° X 13 WINDOW DETAIL W/ INSULATED PLEXI-GLASS

N.T.S.

= — @//] REV | DESCRIPION OF REVSONS DAE__[BY

o
—X13 vax sze | 88 NI g
NTS. 14'2 x 24 ﬁg ~<eOFre \\ E
1/6"DSB GLASS HOT MELT ADHESI £9 ,"‘\Vl‘.-""""'--*,q Y %
I0P_SECTION \ DOOR SKIN ST F 9 e h 3
D D Z 2 \ DESIGN LOADS| 5 S« & ko
—h2 // +15.1 PSF | 4= 2% R
%; 7/8" SPACER——————— -17.2 PSF | ao |
I I 7.7 1 I 7\ . . | /7 A TEST LOADS £ g =
N/ 77777 /7 y/7am HOT MELT 25 2
: y ] ( ] J 5 1/8°DSB GLASS ADHESIVE +22.7 PSF | g 7 &
s T L= T —f T T T I T T #8 ZINC SCREW DOOR SKIN ~25.8 PSF _]% E
v @ @ @ ' EXTRUDED g3 2
POLYPROPYLENE 85 ht
NA , oar x 1ov SECTION D-D 24° X 12° WINDOW DETAIL W/ 1-1/8° INSULATED GLASS Fa TX &
N.T.S.
N.T.S.

NTERMEDI T
S Amarg

| ///// : . ///// ’ ENTREMATIC

VA

MODEL 1350 AMARR 2741 (27GA)
MODEL 2700 AMARR 2742 (27GA)

3 @ @ @ & MODEL 2720 AMARR 2042 (20GA)
SZE| DRAWN BY  DRD| DATE 3/13/18 DRAWING NUMBER
ETINAL GLAZED SECTION W/ 24” X 12° VINDOWS B oo re| oE | BC-1314-104-15
ENTREMATIC SEET 3 OF 4




TABLE 3

14 GA. (MIND FLAG BRACKET DOOR Section # (From Bottom)

ATTACHED TO wOOD JAMB HEIGHT| 1] 2] 3] 4] 5] 6] 71 8] 9]10]11]12
W/¢3) 5/16 DIA. X 1-5/8° LAG BOLTS 5T

AND TO TRACK W/<4) 1/4"-20 x 5/8* - AT T
TRACK SPLICE BOLTS AND NUTS 190 ' g ; 2 g’

7 Tl 2|3

%
%
o
) Zi 12 |3 |2 |3 [27 [ 3
1 %E B EAFEREREERE
e 5 Z; O B T e T e
g EEEFEE RS
2 14 GA. SPLICE BRACKET ATTACHED % e R
TO wOOD JAMB W/ (1> 5/16 DIA. X %: —= 1 15t t=1517
-5/87 LAG BOLT AND TO TRACK W/ /; w2 21312 1% 121
. (4> 1/4°-20 x 5/8° TRACK SPLICE %; LA N P N Nl N P Nl I
TABLE 1 BOLTS AND NUTS % Lo 5 N i
: T R B e B e T e e
H (1) 5/16* DIA, x 1-5/8" / : EZ3 N N N N R R Al S I s
. Center Stile Locations Max Design Loads H———LAG BOLT ATTACHED T0 Jakp Z? 23 |32y 2]
Section (Measured from Left Allowed AT EA. JAMB BRACKET %5 i 4 jy|j|2|¥|2|3Fj2|j2]|s
Width — - b &
(f?)t 1st 2nd 3rd Positive Negitive 12 GA. GALV. STEEL é; i
in | @ | G | ©SF) | ®SH ] mmees ., i s,
J ul Ul A T o 8' LI
6 10| 36 - - 17.8 203 TRACK SPLICE BOLT & NUT SoTS L s e
6. 2" 37" - - 17.3 19.7 CosL MINS OR
6 4 38 - - 168 192 ;gﬁﬁ# z‘;?ﬁ:ﬂ%ﬁg CRAEN ‘BE ERACKEE 37 (12 GA. MIN) VERTICAL TRACK
v 0 W _ " B s VERSE ANG
6 6 39 16.4 18.7 D-L MOUNT OR TAPERED REVERSE ANGLE £
6 |8 | 40" - - 16.0 18.2 MOUNT. (SEE AVAILABLE TRACK g £ z
5 Tl 2 56 78 C CONFIGURATIONS ON THIS PAGE) o 5 g
- - . . [=]
= To 2> - - 52 74 ALL TRACK BRACKETS AND TRACK & & E 3
: : CLIPS ARE ATTACHED TO TRACK a z z 2
9 |4 36 76" N 16.8 191 B \élél# @ RIVETS DR @ 1/4*~-20 g & g
9 |6 | 37 77" - 16.5 18.8 T
— o . . ALL TRACK BRACKETS DR TRACK
9 18] 38 78 - 16.3 18.6 ¢ M CLIPS ARE TO FOLLOW SPACING AS
9 [ 10" 39" 79" - 16.1 18.4 INDICATED
00| 40 | 80 | - 15.9 18.1 Ll L
1) 2" 41" | 81 - 15.7 17.9 TRACK CONFIGURATION FOR UP TO 24' TALL DOORS AVAILABLE TRACK CONFIGURATIONS
10'] 4" | 42" 82" - 15.5 17.7 SEE TABLE 2 NTS.
10'] 6" | 43" 83" - 15.3 17.5
10'] 8" | 44" 84" - 15.2 17.3
131 0" | 36" 78" 120" 15.2 17.3 REV | DESCRIPTION OF REISIONS DAE  |[BY
131 2" | 37" 79" 121" 15.2 17.3
13'| 4" | 38" 80" 122" 15.2 17.3
36| 39° | 8 | 123 | 152 7.3 TABLE 2 -5 g
138 40" | 82" 124" 15.2 17.3 DOOR | TRACK ATTACHMENT [TYPICAL MAX SIZE | 58 _.*“\\\\\\ N
3 (107 41" | 83 | 125 | 152 173 HEIGHT 2 x 24 ge SBETE N, =
w0 | 47 | 84 | 126° | 152 | 173 T . fé £y R 'a, g
1 " W 0 M DESIGN LOADS| vu‘—: P .'. * 4
Wiz ] 8 ] 1o 17.2 vs1 pSE |wx  fxiny PN el 8
» CONTACT ENGINEERING FOR SIZES 7/2° THROUGH ~-17.2 PSF | g< .
9'2* & 10°10° THROUGH 12°10” SR A0 A Seoc oA $
¢ c
TEST LOADS | 52 3
+22.7 PSF |43 g
-258 PSF | J% ;
2T
10.0° | 34 | 58 i €2
[ 10.0"| 34" | 58" | 82" | 106 23 TX g
|17 | 0" [10.0"| 34" | 58" | 82" | 106" | 130" | 154" | 178" | | | | | 196" ]
BEE B 58 52 20
| 1o ] 0" 1 10.0"] 34" | 58" |
200 507 5B 1T
- - £ 30" | 154 : - 7
ENTREMATIC
- = e MODEL 1350 AMARR 2741 (27
ALL TRACK ATTACHMENTS +/— 2° ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY MODEL 2700 AMARR 2742 %37323
AMARR MODEL 1350 ONLY AVAILABLE UP TO 14 MODEL 2720 AMARR 2042 (20GA)
SIZE| DRAWNBY  DRD| DATE 3/13/18 DRAWING NUMBER
B| cieckBr RR| DA 3/15/18 IBC-1314-104-15
REMATIC
65 camRIAGE coRe viNeTCsar u. e, 2zios| ST 4 OF 4




